1.19 The energy absorbed by the BOX in Fig. P1.19 is shown in the graph below. Calculate and
sketch the current flowing into the BOX between 0 and 10 milliseconds.

1.42 s the source V, in the network in Fig. P1.42 absorbing
or supplying power, and how much?

i(1) 6V Vs
| g R (a0
S s 3A L 9 A N 6A
{0V E] 9A 16V [] 8V
i + e
w() (mJ) 2
30 Figure P1.42
20+
2.61 Find R, in the circuit in Fig. P2.61.
10
A —— A ——
. 5 6 7 6 ()
T T } } i - >
1 2 3 4 8 9 10t (ms) etk 56“ 56”
—-10+
Rap—
e 12 0
290 90
-.m- > é
2.11 Find [, in the network in Fig. P2.11. B
W—
Figure P1.1g e . 24
? , IV ioira P2 4
6 1.38 Find the power absorbed or supplied by element 3 in T r 6 mA ] Ll
Fig. P1.38. () :
\= .
4V 12V ! j 5 mA
e B Y I Z MA o
A Sy 7 N ALY [ [ 2.62 Find R, in the network in Fig, P2.62 2
s L ¢
Figurs Pi. A Gmm— Y
2A ; | 60
2.39 Find V,; in the network in Fig. P2.39 L e I 120 36 Q
ey 2 il <
OEn <O [+]= oy e S
- m 20 |
t e -
N/ 2 o Rip —~ AR
3|V | 90
2A : 2A i
2A éSﬂ < 40 $60 36!2 260
4 f
9V !
Figure P1.38 60 J
g 3 —W\/“@_—l b B ' 60
14 Q)

Figure P2.39

Figure P2.62
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3.10 Find /, in the circuit in Fig. P3.10 using nodal analysis. 3

AN
8 k()
2K S 2ma( }
P o
1ma (1) — e
3k
6k 2
]0
Figure P3.10
3.41 Use nodal analysis to find V, in ithe circuit in Q
Fig. P3.41. ; Fy [ o
ety determine the power delivered
amy, source in the network in
R .
in Fig. P3.77

AAA
vy
=%
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5.22 Use superposition to find /, in the network in Fig. P5.22,

/J\ LA™

12viT} L5 6mA
Sape’ T i
_,..._W.\,_*I."__,. 3 4Kk
,J 3k T
6V ( ‘D S 6k
Figure P5.22

5.50 If an 8-k€2 load is connected to the terminals of the
network in Fig. P5.50, V,, = 16 Q. If a 2-kQ load is
connected to the terminals, V,, = 8 V. Find V,, if a
20-k€2 load is connected to the terminals.

Figure Ps5.50
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6.11 If the voltage waveform across a 100-uF capacitor is
shown in Fig. P6.11, determine the waveform for the

current.

(1) (V)

10+

5
Figure P6.11

6.20 The waveform for the current in a 50-pF initially

t (ms)

uncharged capacitor is shown in Fig. P6.20. Determine

the waveform for the capacitor’s voltage.

i(r) (mA)

10

=10~

Figure P6.20

6.34 The current in a 10-mH inductor is shown in Fig. P6.34.
Determine the waveform for t:e voltage across the

inductor.

i(£) (mA)

Si2 =

Figure P6.34

6.55 Determine Cy in the circuit in Fig. P6.55 if all

capacitors in the network are 6 pF

—
-~ -
CT e } S W e
Py
A ¢

Figure P6.55

6.62 Find the total capacitance C; shown in the o

Fig. P6.62.

I
{

8 uF

]

6 nF =

1(12 p,F
I\

)
N
S
=
=
L

A
=
T
1}
]

Cp —

I

AL

Figure P6.62

the network in Fig. P7.15.

7.15 Use the step-by-step technique to find i,(¢) forr > 0 in

2 k2 4 k2

A 44 o -

X 1,(‘?

il (0]
ED <200 uF N =
S 19) L‘

:

et

Figure P7.15

)
<
VAVAVA

the step-by-step method.

WA AN
2 ki) 2k
t=0
e %
2k0 S
'd N\ '
el k12
Figure P7.33

the step-by-step method.

12V

(RN

\A/\l‘ = § Jf J
2 ki) l N
S

200 pF

"B
2 2 k(}

S’

f—

==

7-33 Find v.(7) forz > 0 in the network in Fig. P7.33 using

7-46 Find i(¢) for 7 > 0 in the network in Fig. P7.46 using

2 2kQ

Figure P7.46

i,(1)

12 ()

7-63 Find i,(¢) for r > 0 in the network in Fig. P7.63.
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1005 50 mH

“

iz(’)(ﬂ v2(f} 3= 1000 uF ‘5.50

Yy

[ SRR

4 ()
ATAA
=
£.43 Find V, in the network in Fig. P8.43. i 50 i)
VA n | ¢
g 300 50 cos 101 V _) 0.05F T 1002 0.4H: (1) < 0.025F
< L
A y E: 5 P g
2/60° A ¢ 3 g ot J40 Q L\.‘:J} 100/30° V 05H
: 1(1) i
Figure P8.34

8.70 Use loop analysis to find V, in the circuit in Fig. P8.70.

Figure PB.5y4

Figure P8.70
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L3

Determine the value of C in the network shown in

12.4 Find the driving point impedance at the input terminals
- Fig. P12.54 for the circuit to be in resonance.

of the circuit in Fig. P12.4 as a function of .

o
= (C
Z.
i  4cosarv’ %)
1‘ N
o— 2 it
Figure P12.4 sl

~ Figure P12.54

ey
- Figure P ? .
12.11 Sketch the magnitude chai

the transfer function

H(jw) = o

12.12 Draw the Bode plot -
H(jo)

24 Sketch the magnitude of the Bode plot for the transfer
function

12.

‘ 250(jo + 10)
HU©) = Gay(ja + 1002
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13.16 Given the following functions F(s), find f(r). nd ,(1). 1 > 0.1 : Fig. P14.5 using.

$ 2l
® =G e e
24
S b6 )
4
W e
(d) F(s) = 10Gs

(s + 1)(s + 6)

13.46 Find the initial and final values of the time function
f(r) if F(s) is given as

14.23 Use source transformation to find v,(1), t > 0, in the

) e e circuit in Fig. P14.23.
(S (S8 i 0 N
[ . I/
2+ 25 +4 g 0
(b) F(s) = ) | 16 0
(5 6\(? + 4s® + 85 + 10) el
25 (@ 2u()V (L 2u(r) A 20 v,(1)
© F(s) = SN By ., i
2+ 25 + 2 i L
. ! | =
13 56 In the netwerk in Fig. P13.56, the switch opens at ¢ = 0. Figure P14.23
[t place transforms tollnd ip ()it od g 14.25 Use Thévenin's theorem to find v,(¢), t > 0, in
) 30 Fig. P14.25.
: - 3 2H 20 1F
¥ ir(t) K ‘
+
1A = B E1 H Q—-.— 05F
é 2u(l) v 2u(t) A 20 V(1)
Figure P13.56 Il o

) ~ Figure P14.25
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